Given  nw-)f2 distemces, recomstmct o prnt set -
Givem D=$1.2.2,2.3,3, 3. % 58 k. h7.8.10 ;
@ nfn-o/f2=1F  n=p.
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bool Reconstruct ( DistType X[ ], DistSet D, int N, int left, int right )

{ /% X[1]...X[1eftd] and X[right+1]...X[N] are solved */ W‘v‘sj’y ~/\ é § (nex? ’Cﬂjﬂ),

bool Found = false; iy ﬁ,’; Uvay % (sN]
if ( Is Empty( D) ) H\ K%;&
return true; /* solved */ H\éﬁi“ ) Xt — %

D max = Find Max( D ); &7\ ‘j‘”’#%’ei’\ﬁ%

/* option 1: X[right] = D _max */
/* check if |D_max-X[i]|ED is true for all X[i]’s that have been SOlV#?\*,/\/ L? A“’ X\ Xb
OK = Check( D_max, N, left, right ); /* pruning */
if (0K ) { /* add X[right] and update D */
X[right] = D_max; q& l)’}— =X l \ IXJ' ’Xb ' RZ‘
for ( i=1; i<left; i++ ) Delete( |X[right]-X i]|, D);
for ( i=right+1; i<=N; i++ ) Delete( [X[right]-X[i]|, D); ?f E> “r
Found = Reconstruct ( X, D, N, left, right-1 ); ‘L
if ( !Found ) { /* if does not work, undo */
for ( i=1; i<left; i++ ) Insert( |X[right]-X 1]|, D), )'(,V . “’& {,V '7 ?*?J 3%
for ( i=right+1; i<=N; i++ ) 1Insert( |[X[right]-X[i]|, D);
} -
) ATy v ol se B g)-
/* finish checking option 1 */
if ( !Found ) { /* if option 1 does not work */
/* option 2: X[left] = X[N]-D max */
OK = Check( X[N]-D_max, N, left, right );
if (oK) {
X[left] = X[N] H D_max;
for ( i=1; i<left; i++ ) Delete( |X[left]-X[i]|, D);
for ( i=right+1; i<=N; i++ ) Delete( |X[left]-X[i]|, D);
Found = Reconstruct (X, D, N, left+1l, right );
if ( !Found ) {
for ( i=1; i<left; i++ ) Insert( |X[left]-X[i]]|, D);
for ( i=right+1; i<=N; i++ ) Insert( |X[left]-x[i]], D);
1
J

}

/* finish checking option 2 */
} /* finish checking all the options */

return Found;

—~



if o puition - FP)= Weomputor = Wrnon.
W % & BRI T B9 vy 5 L 57
U

X

X cmputey, 0 huwion,
-
V‘)OOMPWh?/fL ‘\b}o WHWW'C'/”? :(v‘fx

ZARN

, s

Hwom /@9 Wwin wmi2e, /—\lphc«-&;o /@vﬁ moX S 2€ .

Hend@d, md 2 AM-L32]-4 LR |
N o
EN Pm"n«\«] @71@ o (3’ pmm‘d (65 ror¥

b & w



